UNIT III - TRIGNOMETRY

Angles and Trignometric Ratios
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1 MARK QUESTIONS

Define angle.

2. Convert 25° into radians.

. Convert

Convert 720° into radians.

1
Convert 67 5 © into radians.

C

C

T
. Convert e into degrees.

C

8. Prove that cosA.tanA = sinA.
9. Prove that sinA.secA = tanA.

10.
11.
12.
13.
14.
I5.
16.
17.

Prove that (1 — sin’A).sec’A = 1.
Prove that (sec’A — 1).cot?A = 1.

Prove that (1 — cos?A).cosec’A = 1.
Prove that sin®0.sec?0 = sec’0 — 1.

3
. Convert T into degrees [Hint: Usen =%}

prove that sec?’A + cosec?’A = sec?A.cosec?A.

Prove that 1 + tan®0 = sec?0.
Prove that sin®0 + cos®0 = 1.

Define radian.

into degrees [Sexagesimal measure].

3 MARKS QUESTIONS

1. Prove that cos*A — sin*A = 1 — 2sin’A = 2cos’A — 1.

The angles of a triangle are in the ratio 2:3:4. Express them in radians and as well as in

degrees.
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BASIC MATHEMATICS

The angles of a triangle are inthe ratio 4:5:6. Find them in degrees and radians.

. The angles of a triangle are in A.P. and the greatest is double the least. Express them in

degrees and radians.

5. The angles of a triangle are in A.P. The least being 36°. Find the angles in degrees and radians.

6. The angles of a triangle are in A.P and the greatest is 5 times the least. Find them in degrees

10.

11.
12.

13.

14.

I5.

16.

17.

18.

19.

20.

21.

and radians.

The angles of a quadrilateral are in the ratio 2:3:5:8. Find them in radians and degrees.

T
. In right angle triangle, the difference between the two acute angles is 5 radians. Find them in

degrees.

If x = acos®6; y = asin®6. Show that x%+ y%: g%.

12
If cosA = G and A is acute, find other five trignometric functions.

2
If secA = E and A is acute, find other five trignometric functions.
Prove that (1 + tanA + secA).(1 + cotA — cosecA) = 2.

asin—bcosd _a’ b’
asin@+bcos® a’*+b>
Prove that (1 + sin® + cos0)? = 2(1 + sinB)(1 + cos0).

a
If cosf= 3 Show that

cotA+tanB _cotA
cotB+tanA cotB’

Prove that ,/ M =cosec A+ cotA.
l1-cosA

cosf sin 6 )
Prove that + =cos0+sinb.
l1-tan® 1-cotd

Prove that

1

b N n =1.
rovethat TS A 1+ cosec’A
Prove that L cosec’A
Tove At S 0 A 1—cosA .
5 | 247
If cotA = 12 and A is acute, then show that 2 cosecA — 4 secA = ETR
. | . 33
If tan0 = 12 and O is acute. Show that 3sin® — 4cos6 = 13
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QUESTION BANK 1 PUC

2 2

Y

X
22. Ifx = a sinot.cosP, y = b sinou.sinf & Z = coso.. Show that — + b_2+ =1.
a

z
02
23. If sinA + cosA = \/5 sin A . Show that smmA — cosA = \/E COsA.

5 MARKS QUESTIONS

1. The angles of a quadrilateral are in A.P. such that the greatest is double the least. Find them in
degrees as well as in radians.

tan A N cotA
l—cotA 1-tanA

2. Prove that: =1+secA.cosec A.

3. Iftan A + sinA = m and tan A — sin A = n. Show that m° —n° = 4Jmn.
4. If tan A + sinA = m and tan A — sin A = n, then prove that (m? — n?)? = 16.

5 P that: fan A + tan A =2cosecA.
- Frove a'secA—l secA +1

5
6. If tan© + secO = 5 Then find the value of sin6.

7 p hat cos’A +sin’A N cos’A —sin’A 5
. Prove tha - - =2.
COSA +sinA COSA —sinA

psinA —gcosA _ p*—¢°

_P :
8. If tanO = . Then prove that DSInA +gcosA PP g

9. () If sinx + sin*x = 1. Then prove that cos?x + cos*x = 1.

5cos0+2sin0 29

5
b) If cotb =— i h hat ——————=—.
(b) > and q is acute show that Scos0—2sin0 21

Skskskek
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